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𝑇଴

𝑇௞

𝑘 < 0
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2. 

 

 

 

𝐼(𝑡) 𝑡

𝐼(𝑡) = ቆ1 − 𝐹𝑒𝑒 ∙
𝑡 − 𝑡௔ௗ௝

௣௥௘

360
− ∆௧,௧ೌ೏ೕ

∙
𝐹𝑒𝑒௔ௗ௝

2
ቇ

∙ ቌ෍ 𝑁௜
ௗ ∙ 𝐹𝑋௜

ௗ(𝑡) ∙ 𝑆௜
ௗ(𝑡) + ෍ 𝑁௜

௨ ∙ 𝐹𝑋௜
௨(𝑡) ∙ 𝑆௜

௨(𝑡)

ସ

௜ୀଵ

ସ

௜ୀଵ

+ 𝑁஻ ∙ 𝐹𝑋஻(𝑡) ∙ 𝐵(𝑡)ቍ

𝑁௜
ௗ 𝑖 ∈ {1, … ,4}

𝑁௜
௨ 𝑖 ∈ {1, … ,4}

𝑁஻ 

𝐹𝑋௜
ௗ(𝑡) 𝑖 ∈ {1, … ,4}

𝐹𝑋௜
௨(𝑡) 𝑖 ∈ {1, … ,4}

𝐹𝑋஻(𝑡) 

𝑆௜
ௗ(𝑡) 𝑖 ∈ {1, … ,4}

𝑆௜
௨(𝑡) 𝑖 ∈ {1, … ,4}

 𝐵(𝑡) 

  Fee  

𝑡௔ௗ௝ 

𝑡௔ௗ௝
௣௥௘ 

∆௧,௧ೌ೏ೕ
 

∆௧,௧ೌ೏ೕ
= 1

∆௧,௧ೌ೏ೕ
= 0, ≠

Feeadj 
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𝐹𝑒𝑒௔ௗ௝ = 0.05% ∙  ෍ ห𝜔௝ − 𝜔௝
௣௥௘

ห
௝∈{௨,ௗ,஻}

𝑖

𝑡௔ௗ௝

 
  

𝑁௜
ௗ೙೐ೢ 

=  
ఠ೔

೏∙ூ(௧ೌ೏ೕ)

ி௑೔
೏൫௧ೌ೏ೕ൯∙ௌ೔

೏(௧ೌ೏ೕ)
, 𝑖 𝜖 {1, … ,4}  

 

𝑁௜
௨೙೐ೢ 

=  
ఠ೔

ೠ∙ூ(௧ೌ೏ೕ)

ி௑೔
ೠ൫௧ೌ೏ೕ൯∙ௌ೔

ೠ(௧ೌ೏ೕ)
, 𝑖 𝜖 {1, … ,4}  

 

𝑁஻
௡௘௪ =  

ఠಳ∙ூ(௧ೌ೏ೕ)

ி௑ಳ൫௧ೌ೏ೕ൯∙஻(௧ೌ೏ೕ)
  

 

𝑁௜
ௗ೙೐ೢ 

=  
ଵ

ଶ
∙ ቆ

ఠ೔
೏∙ூ(௧ೌ೏ೕ)

ி௑೔
೏൫௧ೌ೏ೕ൯∙ௌ೔

೏(௧ೌ೏ೕ)
+ ቆ1 − 𝐹𝑒𝑒 ∙

௧ೌ೏ೕି௧ೌ೏ೕ
೛ೝ೐

ଷ଺଴
−

ி௘௘ೌ೏ೕ

ଶ
ቇ ∙ 𝑁௜

ௗቇ , 𝑖 𝜖 {1, … ,4} 

 

 

𝑁௜
௨೙೐ೢ 

=  
ଵ

ଶ
∙ ቆ

ఠ೔
ೠ∙ூ(௧ೌ೏ೕ)

ி௑೔
ೠ൫௧ೌ೏ೕ൯∙ௌ೔

ೠ(௧ೌ೏ೕ)
+ ቆ1 − 𝐹𝑒𝑒 ∙

௧ೌ೏ೕି௧ೌ೏ೕ
೛ೝ೐

ଷ଺଴
−

ி௘௘ೌ೏ೕ

ଶ
ቇ ∙ 𝑁௜

௨ቇ , 𝑖 𝜖 {1, … ,4} 

 

  

𝑁஻
௡௘௪ =  

ଵ

ଶ
∙ ቆ

ఠಳ∙ூ(௧ೌ೏ೕ)

ி௑ಳ൫௧ೌ೏ೕ൯∙஻(௧ೌ೏ೕ)
+ ቆ1 − 𝐹𝑒𝑒 ∙

௧ೌ೏ೕି௧ೌ೏ೕ
೛ೝ೐

ଷ଺଴
−

ி௘௘ೌ೏ೕ

ଶ
ቇ ∙ 𝑁஻ቇ   

𝐼(𝑡adj) 𝑡adj  

𝑁௜
ௗ೙೐ೢ  

𝑡adj

𝑁௜
௨೙೐ೢ  

𝑡adj

𝑁஻
௡௘௪ 

𝑡adj
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𝜔௜
ௗ 

𝑇௞

𝜔௜
௨ 

𝑇௞

𝜔஻ 

𝜔஻

   𝜔ௗ
௣௥௘ 

𝜔௨
௣௥௘ 

𝜔஻
௣௥௘ 

𝑁௜
ௗ೙೐ೢ 

𝑁௜
௨೙೐ೢ 

𝑁஻
௡௘௪

𝑖

𝑡௔ௗ௝

  

𝑁௜
ௗ ௡௘௪ =  

ఠ೔
೏∙ூ(௧ೌ೏ೕ)

ி௑೔
೏൫௧ೌ೏ೕ൯∙ௌ೔

೏(௧ೌ೏ೕ)
, 𝑖 𝜖 {1, … ,4}  

 

𝑁௜
௨೙೐ೢ 

=  
ఠ೔

ೠ∙ூ(௧ೌ೏ೕ)

ி௑೔
ೠ൫௧ೌ೏ೕ൯∙ௌ೔

ೠ(௧ೌ೏ೕ)
, 𝑖 𝜖 {1, … ,4}  

 

𝑁஻
௡௘௪ =  

ఠಳ∙ூ(௧ೌ೏ೕ)

ி௑ಳ൫௧ೌ೏ೕ൯∙஻(௧ೌ೏ೕ)
  

𝑁௜
ௗ೙೐ೢ 

𝑁௜
௨೙೐ೢ 

𝑁஻
௡௘௪

𝐼(𝑡௔ௗ௝)

 

𝑇௞

𝜔ௗ 𝜔௨ 𝜔஻
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𝜔௜
ௗ ≔ 𝑤௜ ∙ 𝜔ௗ    

𝜔௜
௨ ≔ 𝑤௜ ∙ 𝜔௨    

𝑤௜ 𝜔ௗ 𝜔௨

𝑇௞

𝑇௞ିଵ

 

𝑇௞ 𝐼𝑅(𝑇௞)

𝐼𝑅(𝑇௞) ≥ 𝐼𝑅(𝑇௞ିଵ) ≥ 𝐼𝑅(𝑇௞ିଶ) ≥ 𝐼𝑅(𝑇௞ିଷ)  𝐼𝑅(𝑇௞) > 𝐼𝑅(𝑇௞ିଷ)

 

𝑇௞ 𝐼𝑅(𝑇௞)

 𝐼𝑅(𝑇௞) ≤ 𝐼𝑅(𝑇௞ିଵ) ≤ 𝐼𝑅(𝑇௞ିଶ) ≤ 𝐼𝑅(𝑇௞ିଷ)  𝐼𝑅(𝑇௞) < 𝐼𝑅(𝑇௞ିଷ)

𝑇଴

𝑇௛

 

𝑇௞

𝑅ௗ =
1

3
෍ ∙ ෍ 𝑤௜ ∙ ቆ

𝑆௜
ௗ൫𝑇௝൯

𝑆௜
ௗ൫𝑇௝ିଵ൯

− 1ቇ

ସ

௜ୀଵ

௞

௝ୀ௞ିଶ
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𝑅௨ =
1

3
෍ ∙ ෍ 𝑤௜ ∙ ቆ

𝑆௜
௨൫𝑇௝൯

𝑆௜
௨൫𝑇௝ିଵ൯

− 1ቇ

ସ

௜ୀଵ

௞

௝ୀ௞ିଶ

𝑅஻ =
1

3
෍ ቆ

𝐵൫𝑇௝൯

𝐵൫𝑇௝ିଵ൯
− 1ቇ

௞

௝ୀ௞ିଶ

𝑤௜ 𝑇௞

𝑇௞

𝑚𝑎𝑥{𝑅ௗ, 𝑅௨, 𝑅஻} = 𝑅ௗ

𝑚𝑎𝑥{𝑅ௗ , 𝑅௨, 𝑅஻} = 𝑅௨

𝑚𝑎𝑥{𝑅ௗ , 𝑅௨, 𝑅஻} = 𝑅஻
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